MPM2DI – Unit 2: Trigonometry I – Trigonometry Worksheet II                 

      
Date: ______________

Trigonometry Worksheet II
#1. For each of the following triangles ABC, find the indicated side, correct to one decimal place:

a) (C = 90°, (A = 40°, c = 8, find a
b) (A = 90°, (B = 60°, b = 4, find c

c) (B = 90°, (A = 20°, a = 5, find b
[image: image1.jpg]


[image: image2.jpg]


#2.  In each of the following, find the indicated angles to the nearest degree:
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#3.  Solve ∆SAP for each of the following cases; find sides correct to 1 decimal and angles to the nearest degree:

a) (P = 90°, (S = 24°, s = 5.0
b) (P = 90°, (A = 66°, s = 5.0
c) (P = 90°, (A = 35°, p = 4.0

d) (S = 90°, (A = 60°, p = 10.0
e) (A = 90°, (S = 67°, p = 8.2

#4.  Solve ∆ABC for each of the following cases; find sides correct to 1 decimal and angles to the nearest degree:

a) (C = 90°, a = 4.0, b = 3.0
b) (C = 90°, a = 2.3, b = 4.2
c) (C = 90°, a = 7.0, b = 5.0

d) (C = 90°, a = 10, c = 16
e) (C = 90°, b = 5.0, c = 8.0

#5.  A girl flies a kite with a string 100 metres long.  When the string makes an angle of 36° with the ground, find the height of the kite, accurate to the nearest metre.

#6.  A ladder 10 metres long just reaches the top of a wall.  If the base of the ladder is 4 metres from the wall, find the angle the ladder makes with the ground, accurate to the nearest degree.

#7.  The Chrysler Building in New York is 321 metres high.  If the sun’s rays make an angle of 52° with the ground, find the length of the building’s shadow on level ground, correct to the nearest whole number.

#8.  A ramp makes an angle of 12° with horizontal ground.  A machine is drawn up the ramp a distance of 40 metres.  Through what vertical distance has the machine been raised, accurate to the nearest whole number.

#9.  The Eiffel tower in Paris is 300 metres high and casts a shadow of 160 metres.  Find the angle that sun’s rays make with the ground, accurate to the nearest degree.

#10.  An airplane flies at 75 m/s and climbs at an angle of 9° to the horizontal.  How high does the plan climb in one minute, accurate to the nearest metre?

#11.  The Leaning Tower of Pisa makes an angle of 5° with the vertical.  A marble is dropped from the side of a balcony towards which the tower leans.  If the altitude of the balcony is 49 metres, find the distance the marble strikes the ground from the base of the tower, accurate to one decimal place.
Answers:





1. a) 5.1

b) 2.3

c) 14.6


2. a) 27°

b) 30°

c) 42°

d) 76°

e) 59°

f)  49°

3. a) (A = 66°
p = 12.3

a = 11.2

b) (S = 24°
p = 12.3

a = 11.2

c) (S = 55°
a = 2.3

s = 3.3

d) (P = 30°
a = 17.3

s = 20.0

e) (P = 23°
s = 19.3

a = 21.0

4. a) (B = 37°
(A = 53°
c = 5.0

b) (B = 61°
(A = 29°
c = 4.8

c) (B = 36°
(A = 54°
c = 8.6

d) (B = 51°
(A = 39°
b = 12.5

e) (B = 39°
(A = 51°
a = 6.2
5.  59 m

6.  66°

7.  251 m
8.  8 m

9.  62°

10.  704 m
11. 4.3 m
